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* Please check that this question paper contains 11 printed papges,

®* Code number given on the right hand side of the gquestion paper should be written on the
title puge of the answer-book by the candidate.

&  Please check that this question paper containg 30 guestions,

® Please write down the serial number of the question before attempting it.
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General Instructions ;

(i) All questions are compulsory.

(1) The question paper consists of 30 questions divided into four sections — A, B, C and D).
Section A comprises of ten questions of 1 mark euch, Section B comprises of five
questions of 2 marks cach, Section C comprises of ten questions of 3 marks each and
Section D comprises of five questions of 6 marks cach

(iti) All guestions in Section A are to be answered in one word, one sentence or as per the

exact requirement of the question,

fiv) There is no overall choice. However, an infernal choice has been provided in one
question of 2 marhs cach, thres questions of 3 marks each and tiwe questions of 6 marks

each. You have to attempt only one of the alternatives in all such questions.

fur  In‘guestion on construction, the drawings should be neat and exactly as per the given
mgasurement,

fui)  Use of calculators is not permitted.

30/3 1 P.T.0.




= 3 -
()  TH v EHErg £ )

(it)

9 999-93 § 30 7% § W ¢ Gvsl — 3 7 TN T H B § 1 we

¥ 4 W I § R G N 1 %% w3 wve 7 7 gl yer & e
§INE T F 2 HF E @vE w O oaw wT ¥ fd 7 ¥aE ywa g
3% & 7 @S 7 H ule 5T § o & v T % 6 9 §

{fit)

fea < @ #

(it

GUE 3 § F&@ ¥4 & I UF Ve, U FFT ST G B STVIHAT

F W97 A G 78§ | g 2 s A uw 5vT 8 g s an A

WAl 3 6 Sw a q@ g F srhE fEer 4 o 8 ) o9 wh gt &
H FaT U [FEAT §F B

(v) T G ¥¥ § A @ o B m oA % S HTHR & WFT
(vi) @eiFcies) & FUT F FgEeT @R

SECTION A

UE A

Ruestions number 1 to 10 carry 1 mark each,
T HE 1§ 10 T THE 59T F 1 HF 8

1. Find the median clags of the following data

Marks obtamed 0=10 10 - 20 20 =30 30 — 40 40 - 60 Al — G0 ’
Frequency 8 12 22 an 18 ‘
fr sl =1 wfes 9 39 @it .

qdish 0-10 10-20 20 — 30 30— 40 40—50 { 50 - 60
FRAEA 8 10 12 29 30 J 18

A bag contains 4 red and 6 black balls. A ball is taken out of the bag at
the probability of petting a black ball.

random. Find
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S
3. Find the perimeter of Figure 1, where AED is a semi-cirele-and ABCD is a rectangle;
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4. II' sin 30 = cos (0 —6°) and 30 and 0 — 6° are acute angles, find the value of 0.

4fe sin 80 = cos (6 6% T4T 30 T 0 65 A FT &, T 0 H HA T FHe0 |
8. In Figure 2, il £ ATO = 40°_ find ~ AOB.

A
P
B
Figure 2
FFia 2 H, A £ATO =40°, T £AOB FIF Ffaw |
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6. Write a rational number between 2 and /3. - 1
J2 A9 Ja & 99 U Uty g fafau |

7. Write the number of zeros of the polynomial y = fix) whose graph is given in Figure 3,
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Figure' 3
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8. Is x=-4 asolution of the equation 2" +5x—-12=012

T x= - 4 THFOT 2x° + 6x— 12=07F &d € 7 . f"i‘q'l}_‘

9. Write the next term of the AP, Jﬁ. 1.“'ﬁ, JEL;, _
= o VB, VI8, V32, .. @ el 9E fdfEm | |

10. D), E and F are the mid-poinis of the sides AB, BC and CA respectively of AABC.

piq Ar(ADEF)
ar (AABC)
e : & ar (A DEF) ;
Brs ABC H 9SSl AB, BC W9 CAS WeA-fag HW D,ETH FE | —
ar (A ABC) |
wife | ‘
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SECTION B
EuE =7

Guestions number 11 to 15 carry 2 marks each.
YOT G 11 F 16 7% F9F I F 2 HF E |
11. In Figure 4, OP is equal to diameter of the circle. Prove that ABP is an equilateral

triangle,
A

B

Figure d
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12. If the product of zeros of the polynomial ax® — 6x — 6 is 4, find the value of ‘a'.
AfC WEHE ax’ —6x — 6 F YA & PHE 4 T, a1 ‘&’ H AH F HA0 |

13. For whal valoe of k are the points (1, 1), {IL. k) and (-1, 4) collinear ?
OR
Find the area of the & ABC with vertices A(—5, 7), B{—4, —5) and C{4, 5).
k& fFE AW & fou fag o, 1), 6, 0 99 1, 0 WE F
HEdl
A ABC F 8% T FIGC [0 T A(=5, 7, B—4, —5) 78T C4, 51 F |

14, Cards, marked with numbers 5 to 50, are placed in a box and mixed thoroughly. A card
is drawn from the box at random, Find the probability that the number on the taken out

card is
(3} a prime number less than 10.

(i1}, & number which iz a perfect square,
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(i) T I @ EE

{810 7sinkt 4 3 (s> 0 = 4, show that tan 0=
V3
|
#fg 7 sin?0 + 3 w0520 =4, w f& tanb = %
SECTION ¢
wUE | i

Questions number 16 (o 25 carry 8 marks each.
v G 16 § 25 7% % 0T F 3 IFE |

16. Use Euclid's Division Lemma fo show that the square of any positive integer ia either of
the form 3m or 8m + 1 for some integer m,

wwmmmmmﬁmﬁmmmmmw
m%ﬁﬂ'ﬂ{ﬁ:nmﬂm+lﬁ3mﬂﬁﬂlﬁl

17. Solve for x and yo:
fa—hix+la+bly = a® — 2ab — b®
(4 + b) (x4 )= a° + b
OR

Bolve for x and y ¢
B7x + 43y = 123
43x + 8Ty = 117

x T4l ].ra; fAr 2 it -
(a—hix+la+hy = aZ — 2ah — b®

A

fa+b',ltx+yl=az+b3
Y
= 040 }T% o & HEw ;
ATx + 43y = 123
43x% + 3Ty =117

18. Prove that +5 is an irrational number.

g AT 5 J5 T anfiE dem g
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20.

21,
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The sum of the 4 and 8% terms of an A.P. is 24 and the sum of the g and 10" terms
i5 44, Find the first three terms of the AP,

frd oaeR g9 & = T Wed WA A Awe 24 ® G4 93 U gEd wd A
AR 44 8 | T GURR 4€ F RUW oW 98 I ST |

If the peint P(x, y) is equidistant from the points A(3, 6) and B(-3, 4), prove that
X =y — o=

e Pex, y) U T fag € S fAge A, 6) T B3, 9 ® wugEy #, @ fag #if

ﬁdx+1.- =i

Prove that :

(8in 0 4 cosec 0)% + (cos O + sec O° 7 + tan® 0 + cot® B

OR
Prove thatl :
Sin 1+ tan 0] 4cos 0(1 + cot B) = sec 0+ cosec O
[EA ﬂﬂfiﬂT{ &
(8in O + cosec 8)* & (cos 0 + sec 0)* = 7 + tan® 0 + cot® 0
JeE
fog Fifoe &
Ein B (L # tan 0) + cos B (1 + cobt B) = sec B + cosec @

. In Figure 6, ABC is a right-angled triangle right-angled at A. Semicircles are drawn on

AB, AL and BC as diameters. Find the area of the shaded region.

B C

Figure 5

AF 5 W, ABC UF FHHIVT 399 & FEH £ A=90°. AB, AC T BC # =W T

FHgT @Y T E | BT 9 W SIS §E S |
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23. If A4, —8), B(3, 6) and C(5, —4) are the vertices of a A ARC, D
and P iz 4 point on AD joined such that —E—F-

= =2, find the coordinates of P,
4R A4, ~8), BS, 6) 797 s, ~9TF AABCH W ¥, wo o Wy g DR A

fﬁm‘rﬂﬁanm'ﬁ@?mm{ﬁm?ﬁ%ﬂ.?ﬁiﬂ%ﬁﬁﬁaﬁmﬁaﬁmr

|
|
18 the mid-point of BC 1
|
i
24. D and E are points on the sides CA and CB

respectively of A ABC right-angled at O,
Prove that AE® 4+ BD? = AB? , pgp2

OR
. BE _ AC
In Figure 6, DB L BQ, DE L AB and AC 1 BC. Prove that DE - po-
A 1
D
E
B C
Figure &
ﬁ@cmmﬁgﬁancﬂﬁﬂﬁm‘fmﬂmcaﬂﬁgnﬁmEmﬁim
e & Ap? ., BD® = AB? 4 pE2
SrerEr
: BE  Ac
AT 6%, DB L BC, DE | AR T AC L BC. fig Fifw e o
A
D
E
=
B C
HFiT 6
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24,
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Draw a AABC withside BC=6cm, AB=5com and £ ABC = 60°. Construct a
AABIC similar to A'ABC such that sides of A AB'C" are :E:- of the corresponding sides of

AABLE:

A'ABC FI =1 Fifa 95 49 BC = 6§, AB =5 ¥ 41 £ ABC =60°. S ABC
& AvEY S ABC F Al FIST EE A ABC ST A ABC & T S0 H
8l

i

SECTION D
g 7§

Ruestions number 26 to 30 varry 6 marks cach.

O G 26 ® 30 7% VA I¥T H 6 HH & |

Proye that the ratio of the areas of two similar triangles 18 equal to the ratio of the
sguaros on thelr corresponding sides|

Using the above, do the following

The diagonals of & trapezium ABCD, with AB || DC, intersect each other at the peint 0.
If AB=20CD, find the ratio of the area of A AOB to the area of A COD.

OR
Proye that the lengths of the tangents drawn from an external point to a cirele are
egual,
Waing the above, do the following :

In Figure 7, TP and TQ are tangents from T to the cirele with centre O and R is any
piind oncthe dircle. 1f AB is a tangent {o the circle at R, prove that
TA + AR =TB + BR,

Figure 7

fog @i o & wred Bsl & Sawc & sum SAa ST Yol & @ % Ium
F AE E 8 |
s & A # e S

UF FHEE ABCD, R AB || DC 2, ¥ FeEel weR e 0 W weE w0 § | AR
AB=2CDZ T AAOBF &A%6 & ACOD & 3% # 90 WA HT |
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TA'+ AR = TB + BR. .

1T 7

A motor boat whose speed is 18 km/h in still water takes 1 hour more to go 24 km
upstream than to return downstream to the same spot. Find the speed of the stream,

OR

Two waler taps together can fill a tank in Bg hours. The tap of larger diameter

takes 10 hours less than the smaller one to fill the tank separately. Find the time in
which each tap can separately fll the tank.

r{ﬂ:ﬁmﬁa.ﬁmﬂfmﬁﬁnﬁsmﬁaﬁ;ﬁa%,ﬁrm(m}%ﬁqﬂﬁmw
aﬁ;ﬁﬂamﬁﬂ.ﬂm%maﬁrgﬁaﬁmmﬁiaﬁwﬁ.ﬁﬁaﬁm
T @ | uw E A wm )

Frerar

ﬁmﬂ%W@mﬂﬁmﬁa_gﬁﬁmﬁ§|aﬁmwwﬁﬁ
mm—amﬁﬂﬁﬁwaﬁmﬁﬂmﬁmﬁ%mmﬁmélmmm
m~me‘aﬁﬁuﬁ%lﬁqmﬁmaﬁﬁml

The angle of elevation of a jet fighter from a point A on the ground iz 60° After a flight

of 10 seconds, the angle of elevation changes to 30°. If the jet is flying at a speéd of
648 km/hour, find the constant height at which the jet is fiying. [Use J3 = 1782]

qﬁ%ﬁﬁﬁfgaﬁqm@@ﬁzﬁmﬁﬂmﬁﬂrﬁu“é‘lmﬁmaﬁam:r

%Eﬂ?:-,ﬁmaﬁwam@mélaﬁﬂzﬁnﬂmﬁﬂ?ﬁﬁaﬁwﬁrﬁﬁmﬁ,

ﬁ’fﬁmaﬁﬁqﬁﬁﬁﬁmﬁmmﬁﬁwnmér (V3 = 1-732 ofifam
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29, A lent consists of a frustum of a cone, surmounted by a cone. If the diameters of the
upper and lower circular ends of the frustum be 14 m and 26 m respectively, the height
of the frustum be 8 m and the slant height of the surmounted conical portion be 12 m,

30. Find the mean, mode and median of the following data. :

- 30/3

find the area of canvas required to make the tent. (Assume that the radii of the
circular end of the frustum and the base of surmounted conical portion are equal)

upper

T 3T W NN AF F foam & w9 A 2 forwm wud wm vmmw 4| 0 foum
& I e g ¥ s wwE 14 W w26 & qer foum W v
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Classos Frequency
0-10 3

10 - 20 4
20 — 30 7

30 — 40 15

40 - 50 10

50 — 60 7

60 — 70 4
fow wrew, agas a9 Wi 3@ Hifw

i AR AT

0-10 3
1020 4

20 — 30 7

30 - 40 15

40 - 50 10
50 — 60 7

60 — 70 1
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